East Asian Math J. 18(2002), No 2, pp 205-209

## ON B-ALGEBRAS AND GROUPS

# JANEZ UŠAN AND MALIŠA ŽIŽOVIĆ

ABSTRACT In the paper the following propositions are proved. 1) If (Q, , e) is a *B*-algebra, then there exists a group  $(Q, A, ^{-1}, 1)$  such that the following equalities hold e = 1 and  $= ^{-1}A$ , where  $^{-1}A(x, y) =$  $z \stackrel{def}{\longleftrightarrow} A(z,y) = x$ , and 2) If  $(Q, A, ^{-1}, e)$  is a group, then  $(Q, ^{-1}A, e)$ is a B-algebra

### 1. Preliminaries

DEFINITION 1 1(CF. [3]). Let  $(Q, \cdot)$  be a groupoid. Let also e be a (fixed) element of the set Q.  $(Q, \cdot, e)$  is said to be a B-algebra iff the following laws hold:

(i) 
$$x \cdot x = e$$
,

(ii) 
$$x e = x$$
 and

(ii)  $x \cdot e = x$  and (iii)  $(x \cdot y) \cdot z = x \cdot (z \cdot (e \cdot y)).$ 

**PROPOSITION 1.2** [3]. If  $(Q, \cdot, e)$  is a B-algebra, then  $(Q, \cdot)$  is a quasigroup.

**PROPOSITION 1.3** [3]. Let  $(Q, \cdot, e)$  be a B-algebra. Then for all  $x \in Q$  the following equality holds:

(iv)  $e \cdot (e \cdot x) = x$ 

#### 2. Two auxiliary proposition

Received July 17, 2002 Revised November 27, 2002 2000 Mathematics Subject Classification 06F35, 20N15

Key words and phrases B-algebra, quasigroup, semigroup, group

**PROPOSITION 2.1.** Let  $(Q, \cdot, e)$  be a *B*-algebra. Let also

$$f(x) \stackrel{def}{=} e \cdot x$$

for all  $x \in Q$ . Then:

(1) f is a permutation of the set Q; and (2)  $f \circ f = I$ , where  $I = \{(x, x) | x \in Q\}$ .

**PROOF.** By Proposition 1.2 and Proposition 1.3.

**PROPOSITION 2.2.** Let  $(Q, \cdot, e)$  be a *B*-algebra. Let also

 $f(x) \stackrel{def}{=} e \cdot x$ 

for all  $x \in Q$ . Then, for each  $x, y \in Q$  the following equality holds:

 $x \cdot f(y) = f(f(y) \cdot x)$ 

**PROOF.** By Definition 1.1(iii), x = e and Proposition 2.1.

#### 3. Results

THEOREM 3.1. Let  $(Q, \cdot, e)$  be a B-algebra and let

(v)  $f(x) \stackrel{def}{=} e \cdot x$  for all  $x \in Q$ .

Let also

(vi)  $a * b \stackrel{def}{=} a \cdot f(b)$  for each  $a, b \in Q$ .

Then the groupoid (Q, \*) is a group. Moreover, for each  $x, y \in Q$  the following equalities hold:

(a) 
$$x * e = x$$
,

- (b) x \* f(x) = e, and
- (c)  $x \cdot y = {}^{-1} A(x, y)$ , where A = \* and  ${}^{-1}A(a, b) = c \stackrel{def}{\iff} A(c, b) = a$  for each  $a, b, c \in Q$ .

**PROOF.** Firstly we observe that under the assumptions the following statements hold:

(1) The groupoid (Q, \*) is isotopic (in the sense of [1] and [2]) to the groupoid  $(Q, \cdot)$  (by (v), (v) and Proposition 2.1);

(2) The groupoid (Q, \*) is a quasigroup (by (1) and Proposition 1.2); and

(3) The groupoid (Q, \*) is a semigroup. Indeed, by Definition 1.1 (iii), (v), (vi), Proposition 2.1 and Proposition 2.2, we conclude that the following series of implications hold:

$$(a \cdot b) \cdot c = a \cdot (c \cdot f(b)) \stackrel{2 \cdot 2}{\Longrightarrow} (a \cdot b) \cdot c = a \cdot f(f(b) \cdot c) \stackrel{(v_i), 2 \cdot 1}{\Longrightarrow} (a * f(b)) * f(c) = a * f(f(f(b) * f(c))) \stackrel{2 \cdot 1(2)}{\Longrightarrow} (a * f(b)) * f(c) = a * (f(b) * f(c))$$

for all  $a, b, c \in Q$ . Whence, by Proposition 2.1(1), we conclude that the groupoid (Q, \*) is a semigroup.

By (2) and (3), we conclude that the groupoid (Q, \*) is a group. The proof of (a):

$$x \stackrel{(n)}{=} x \cdot e^{(v_1), 2} \stackrel{1}{=} x * f(e)^{1} \stackrel{3, 2}{=} x * e.$$

The proof of (b):

$$e^{(i)}_{=} x \cdot x^{(vi),2} \stackrel{1}{=} x * f(x).$$

The proof of (c):

THEOREM 3.2 Let (Q, A, -1, e) be a group and let

$$^{-1}A(x,y) = z \stackrel{def}{\Longrightarrow} A(z,y) = x$$

for each  $x, y, z \in Q$ . Then the algebra  $(Q, {}^{-1}A, e)$  is a B-algebra.

**PROOF.** At first observe that

$${}^{-1}A(x,y) = z \overleftrightarrow{def} A(z,y) = x \iff z = A(x,y^{-1}).$$
  
 ${}^{-1}A(x,e) = A(x,e^{-1}) = A(x,e) = x.$   
 ${}^{-1}A(x,x) = A(x,x^{-1}) = e.$   
 $x^{-1} = A(e,x^{-1}) = {}^{-1}A(e,x).$ 

Now, we have

$$\begin{aligned} {}^{-1}A({}^{-1}A(x,y),z) &= A(A(x,y^{-1}),z^{-1}) = A(x,A(y^{-1},z^{-1})) \\ &= A(x,(A(z,y))^{-1}) = {}^{-1}A(x,A(z,y)) \\ &= {}^{-1}A(x,A(z,(y^{-1})^{-1})) = {}^{-1}A(x,{}^{-1}A(z,y^{-1})) \\ &= {}^{-1}A(x,{}^{-1}A(z,{}^{-1}A(e,y))). \end{aligned}$$

This completes the proof.

### 4. Remarks

4.1. In the [4] the following proposition is proved: A BCI-algebra  $(Q, \cdot, 0)$  is a BCI-quasigroup iff there exists a commutative group (Q, +, 0) such that  $x \cdot y = x - y$ . (In this case x + y = x(0y).) In [5] the following propositions are proved:

(1) A BCI-algebra  $(Q, \cdot, 0)$  is right alternative, left alternative or flexible iff it is a group of the exponent 2; and

(2) A weak BCC-algebra is a Boolean group iff it satisfies (at least) one of the following identities  $x \cdot (y \cdot x) = y$ ,  $(x \cdot y) \cdot x = y$  See, also [6].

The authors expresses his thanks to W. A. Dudek for the information the papers [4-6].

4.2. The algebra  $(Q, \cdot, f)$  satisfying the law

$$(x \cdot y) \cdot z = x \cdot f(f(y) \cdot z)$$

is described in [7]

208

### References

- V D Belousov, Foundation of the theory of quasigroups and loops, (Russian), "Nauka", Moscow, 1967
- [2] R.H. Bruck, A survey of binary systems, Springer-Verlag, Berlin-Heidelberg-Göttingen, 1958
- [3] J.R. Cho and H.S. Kim, On B-algebras and quasigroups, Quasigroups and Related Systems 8 (2001), 1-6
- [4] W A Dudek, On group-like BCI-algebras, Demonstratio Math 21(2) (1988), 369-376
- [5] I.M Dudek and W A Dudek, *Remarks on BCI-algebras*, Prace Naukowe WSP w Czestochowie, Ser Matematyka 2 (1996), 63-70
- [6] W A Dudek, Remarks on the axioms system for BCI-algebras, Prace Naukowe WSP w Czestochowie, Ser Matematyka 2 (1996), 48-62
- J Ušan, Two classes of algebras that are close to groups (Russian), Rev of Research, Fac of Sci Univ of Novi Sad, Math. Ser 19(1) (1989), 207-237

Institute of Mathematics University of Novi Sad Trg D Obradovića 4, 21000 Novi Sad Yugoslavia *E-mail* jus@eunet.yu

and

Faculty of Tehnical Science University of Kragujevac Svetog Save 65, 32000 Čačak, Yugoslavia